Regular Physics Addition-Component using Calculator Quiz  D   -1-              Name _________________________________

1.
Calculate the resultant velocity of an airplane that normally flies at 180 km/hr if it encounters a 70 km/hr headwind.


_______________

2. Find the resultant of the pair of velocities 175 km/hr East and 87 km/hr West.


_______________

3.
Find the resultant a displacement of 162 km North and one of 125 km West.


_______________

4.
Find the resultant of a displacement of 84 km, North 44o West and a displacement of 76 km, East 39o North.


_______________

5.
Find the resultant of a displacement of 78 km, South 67o East, a displacement of 64 km, East 27o North, and a displacement of 97 km, West 32o North.


_______________

6. Resolve the following vector into its horizontal and vertical component.  155 m/s, Eest 47o South.

Horizontal _______________    Vertical _______________

7. Find the horizontal and vertical component of the vector: 123 Newtons, North 34o West.

Horizontal _______________    Vertical _______________
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